

Resolution for Maintenance Under the Illinois Highway Code



		Resolution Num	nber Resolution Typ	Section Number
			Original	19-00000-00-GM
BE IT RESOLVED, by the President	dent and Board of	Trustees	of the	Village of
	Governing Body Typ	pe	of the Local	Public Agency Type
Antioch	Illino	is that there is he	ereby appropriated the	sum of Three Hundred
Name of Local Public Agency				4000 000 00
Thousand and 00/100				
of Motor Fuel Tax funds for the purpose of	maintaining streets ar	nd highways unde	er the applicable provisi	ons of Illinois Highway Code from
05/01/18 to 04/30/19 Beginning Date Ending Date	_·			
BE IT FURTHER RESOLVED, that only the including supplemental or revised estimates funds during the period as specified above.	approved in connect	ed and described tion with this reso	on the approved Estima lution, are eligible for m	ate of Maintenance Costs, naintenance with Motor Fuel Tax
BE IT FURTHER RESOLVED, that	Village	of	А	ntioch
shall submit within three months after the er available from the Department, a certified st expenditure by the Department under this a BE IT FURTHER RESOLVED, that the Cler of the Department of Transportation.	nd of the maintenance atement showing exp ppropriation, and	e period as stated enditures and the	above, to the Departme balances remaining in	the funds authorized for
Lad Barrier				SE MANUE
Lori Romine Name of Clerk	Local Pi	Village	Clerk in and for said	d Village Local Public Agency Type
of Antioch				records and files thereof, as
Name of Local Public Age	псу	u.o otato or im	nois, and nooper of the	records and mes thereof, as
provided by statute, do hereby certify the for	egoing to be a true, p	erfect and comple	ete copy of a resolution	adopted by the
President and Board of Trustees	of	Antioch	· atam	neeting held on
Governing Body Type	Name	Antioch of Local Public Age	ency	Date
IN TESTIMONY WHEREOF, I have hereunto	set my hand and se	al this Day	_day of/Nay	Month, Year
(SEAL)		Clerk Signature		
GE OF AND		Ce	Mod	ED
FEB. 29th 1892		Regional Engine Department of T	eer	Date
COUNTY COUNTY			· · · · · · · · · · · · · · · · · · ·	



Municipal Estimate of Maintenance Costs



Submittal Type Original Maintenance Period Local Public Agency County Beginning Section Number **Ending** Village of Antioch Lake 19-00000-00-GM 05/01/18 04/30/19 **Estimated Cost of Maintenance Operations** Maint. For Group I, IIA, IIB or III Eng. Insp. Maintenance Operation Unit Item Est Total (No. and Description) Group Req. Item Unit Quantity Price Cost Operation Cost 1. Contract Resurfacing IV BLR 11510 attached \$938,417.19 (19-00000-01-GM) Add Row Total Estimated Maintenance Operation Cost \$938,417.19 **Estimated Cost of Maintenance Engineering** Maintenance Program Estimated Costs Preliminary Engineering \$27,750.00 **Estimated Cost** MFT Portion Other Funds Engineering Inspection \$46,250.00 Maint Oper \$938,417.19 \$300,000.00 \$638,417.19 Material Testing Maint Eng \$74,000.00 \$74,000.00 Advertising Totals \$1,012,417.19 \$300,000.00 \$712,417.19 Bridge Inspections **Total Estimated Maintenance Cost** \$1,012,417.19 Total Estimated Maintenance \$74,000.00 **Engineering Cost** Submitted Municipal Official Date Approved Regional Engineer Department of Transportation Date



Contract Estimate of Cost



Douto/a)/Street Dood Name		7.1		
Village of Antioch	Lake	19-00000-01-GM		
Local Public Agency	County	Section Number		

Route(s)/Street-Road Name

Various Roads and Streets within the Village of Antioch

Project Length 3.22 miles

Project Termini

Item Number	Item	Unit of Measure	Quantity	/ Unit Price	Total Estimated Cos	t
1	BITUMINOUS MATERIALS (TACK COAT)	POUND	25117	\$0.01	\$251.17	
2	BITUMINOUS MATERIALS (PRIME COAT)	POUND	42077	\$0.01	\$420.77	
3	HMA BINDER COURSE, IL-19.0, N50	TON	2520	\$54.00	\$136,080.00	
4	POLY LEVELING BINDER (M.M.), IL-4.75, N50	TON	1360	\$68.00	\$92,480.00	
5	HMA SURFACE COURSE, MIX D, N50	TON	5580	\$56.00	\$312,480.00	
6	HMA SURFACE REMOVAL, BUTT-JOINT	SQ YD	660	\$5.00	\$3,300.00	
7	HMA SURFACE REMOVAL, 1-1/2"	SQ YD	8156	\$1.50	\$12,234.00	
8	HMA SURFACE REMOVAL, 2-1/4"	SQ YD	29465	\$2.25	\$66,296.25	
9	HMA SURFACE REMOVAL, 3-1/2" (SPECIAL)	SQ YD	14200	\$3.00	\$42,600.00	
10	PULVERIZATION, 8 INCH	SQ YD	4500	\$2.00	\$9,000.00	
11	PARTIAL DEPTH PATCHING, 3 INCH	SQ YD	771	\$30.00	\$23,130.00	
12	COMB CONC CURB & GUTTER REM & REPL	FT	2076	\$35.00	\$72,660.00	
13	HMA SURFACE REMOVAL, DW, BUTT-JNT	SQ YD	300	\$10.00	\$3,000.00	
14	DRIVEWAY PAVEMENT REMOVAL	SQ YD	409	\$15.00	\$6,135.00	
5	PCC DRIVEWAY PAVEMENT, 6 INCH	SQ YD	82	\$70.00	\$5,740.00	
6	HMA DRIVEWAY PAVEMENT, 3 INCH	SQ YD	585	\$30.00	\$17,550.00	
7	AGGREGATE SHOULDERS, TYPE B	TON	540	\$35.00	\$18,900.00	
8	AGG BASE COURSE REM AND REPL, 12"	SQ YD	967	\$20.00	\$19,340.00	
9	FRAMES & LIDS TO BE ADJUSTED (SPL)	EACH	35	\$500.00	\$17,500.00	7
0	FRAMES AND GRATES TO BE ADJUSTED	EACH	21	\$350.00	\$7,350.00	1
1	SEEDING, SPECIAL	SQ YD	1200	\$12.00	\$14,400.00	7
2	DETECTOR LOOP REPLACEMENT	FT	648	\$25.00	\$16,200.00	1
3	THPL PAVT MKG, LETTERS & SYMBOLS	SQ FT	148	\$5.00	\$740.00	1
4	THPL PVT MKG, LINE 4"	FT	4020	\$0.75	\$3,015.00	1
5	THPL PVT MKG, LINE 6"	FT	1000	\$1.50	\$1,500.00	1
3	THPL PVT MKG, LINE 12"	FT	150	\$3.00	\$450.00	T
7	THPL PVT MKG, LINE 24"	FT	36	\$15.00	\$540.00	T
3	CONCRETE GUTTER, TYPE B (SPECIAL)	FT	175	\$35.00	\$6,125.00	1
)	GRADING & SHAPING SHLD & DITCH	FT	500	\$15.00	\$7,500.00	1
)	PIPE UNDERDRAINS, 6 INCH (SPECIAL)	FT	130	\$50.00	\$6,500.00	+
•	TRAFFIC CONT & PROT, STD 701501	L SUM	1	\$15,000.00	\$15,000.00	1

Local Public Agency		County		Section Nu	Section Number		
Village of Antioch		Lake			19-00000	19-00000-01-GM	
Item Number	ltem		Unit of Measure	Quantity	Unit Price	Total Estimated Cost	
Add			Т	otal Overall	I Estimated Cost:	\$938,417.19	
	Prepared By		Date				
	Verified By		Date		7		